18 (K) B 78 28 (k) 3H (%)
w4 BRd —A&Y | @iz BRd — A&y | [mrs BRd —AHY
ERDE ERDE ERDE
S = A YA 50| f=  |HEEX (B 55| |X  |HEX(EFH) 60
/i ayRIY 50 ;) *kHE BR 5 Et BEX(ER) 70
< L ) 1= Hhvbk 30 Y *XuE Tt 6
R = 208] |~ &= 1 Kz R 7
= FWLZ XS 7 %
H |mmaeaa—oL—yr54 #H~Mm3 20| (A [AB 5 |z, [4EL 206
2, [wmssaa—o—sr54 M~6 50| |Y () FLLLEGF RS54 0.8
o8 BEEBI—LIL—1T51 41 60| [~ HBIS 5| |= (M EHL MFE 30
S |t 5 (B TERHT 5 (B |fat=taih 4
¢ [(®EEY/—2 10| |F [ttt 1| |C [k 2
‘;’; A [eo=m 3 % B 3
o |FEev 40| |z |BEESRE 1 |z | EESE 22
I [z 10| |g [EE 2| & |[BE(EE® 22
v | Xyd—= 5| |k Big 01| [+ [#YA 0.8
7 |BhTiE 05| [L  |ELE#H 1 — bk 0.01
L Y E [k 1.1
I [R=32 =542 5| | [+ 206| |
g B BVATAT tef | 2 [zas5E2 20
5 E#E 40 0 FrRY 35 pas Ep3Y 20
4 |AZ 10 |z [EwdY 20| |5 ($E)h—J)La—> 8
IAO= (L) 5 ¥ 5 |y [£423 7
p Ol — 2| |8 (S®RAFLYLLY 5SS 10 (S BLEFLYL LY 5SS 10
< |81y 05| [
¥ |ttt 05| [t [BBEAYDA 25| |L [(LB)5FEEm 20
R (LB herkE 10 EH 15| |9 |[mEEezEo@ 7
. [WhAsR—T A B e ol ¥ [x2 20
5 |ERESE 1| [ [As 5| [T Az 5
=z Big 0.5 I ¥ 5 + ¥ 5
RoOSL&ES 003| |cp [HOEMH 2| |5 [BLOA 5
O |F%oavyAs-migs 05| | |BOE] 1 [€ [BOE] 0.6
| [o—yz o] |# [BE& 1|y [&s 0.3
* = 110] [~ HY A 05| |! ZLEIYE fFRE 5
5 ELBIYE gikE 1N NE 130
| UB) RTF499F—X 10 ELER 1 o :
2 K 130 | |UEDESE)— 50
—~ H
th (&) gk 30| [~
1)
F




68 (A) 78 () 88 (k) B 78 9H (k) 108 (%)
] Bmd —AHY | @iz BRd —A&Y | (wus BRd —A&Y | @iz BRd — A&y | @ BRd —AHY
ERDE ERDE ERDE ERDE ERDE
N EVA | (B |HEXER 62| |2 [Ty g~ 30| |3 |HEERER) 55 |E |HEE%(FEH) 60
N P 30| |5 [HEX(ER) B M2 0] |B [xbE Bk 5| £ [HEX(EHR) 70
> '/f KpE B j; EPRA 3.4 50| [U [omma masLomn 15] (7 |[RHE ZE 6
< 43, 206 KHE B 7 5 YR/ N5 60 % CHBA_tbeEAEL (k) 10f | X¥iE £ 7
% #® S =D AYA Me~ep 70 |3 |SIFES SEHE 1|
v R TA0N=D) 35| |z, [&EL 206| |5 Yy A 1 |z |43 206
KW TiE 15 A |FE 206| [« |CRITERE 5| |I%
F  [R—a32(RF4R) 5| [R  [BHEE(RTAR) 40[ |Y izt 15| [~ |FERERRSLR) 40
A | bsUpEs 20 |1 [ROE 1| [~ |me s EsLowb 0| £ [mOEs 25| [-  [ROE; 35
y  [GRVECS SR ol |13 L&E ] R S 20| |# [BE 15| |, [BE(=Em) 15
'0) BAESH 2 o FrRy 40 3 BE 2 o] [y A =F;)) 1.2 3 BE 1
= EH 40| | EE 35 Bif 015} |x BiE 05 1Al 15
2 LB RRRKE 25 LRI QAR =) 15| |zg  [TASA 8| |x |ELEA 1|3 [PR&E 1
8 |[LHL 10 | |[AZ 10| |y |Gi=tail 6| |48 o | 1
7| RyF—= 10| [# [E—=v 8l | [EHE 15| | |43 206| £ |BYBTFE 2
T |AB | [P |hhE 6| |7 |Ryx—= 10| |#0 A [—m 0.01
1 izalz< 03] |7 &= 1% |ag 10 |[£  [Zw>5Y 30| |Y  [B)EFEShAE 25
tit-taih 2 1% [Izal=< 05 ';J I=Al=¢ 07| | [oFLxR 5 *Z\ £0L 40
T ST ) | | [foim 1|7 et 05| |,. [AZ 5| [ [A8 7
= |BAESHE 5 |w  |E#E 2| |1 [PRETFevT 3 | [EHAES 05/ |5 [FIFLXIR 3
& DAZ—Y—R IINEN EOE 2| |/ (LM FREa—L 1.5) |54 |eomemeiosey omme 10] |v (S BABELYYY S i 10
[ (=t ) 1 |» BB 1| [+ |Fxravvs ae-mis 05 I
x (B 04| |A |EbEE(EBHE) 0.7 YRE—Y—R 03| |A CRIFTLVEA 25| R |mm £-mELGYR 12
[ T} 005| |~ [F4rE=Y—2 01| [ [HERESE 03| @ [Zm 20/ |l |¢5% 7
Y oy nomus 03| |1 [EmE 005| | | (=2 03| |2 [avtzze N ET: 30
; —k 0.01 ;"; - 3 0.5 g Big 0.1 3 DEZAIZHL 10 AS 7
#$F—X 3 |2 cL&S 002| || g 7 aarrtd 5
= o  |EEET FHY 05 g [TASA 01 | . |HBF 5 #) FLLLEE Z54Z 08
= [EULE 1 oL 30| |z |k | [ |@Fives 2542 0.5 = 0.5
~ B Joyay— 25 ZpoY 15| |& o |[EOE; IZAI=£ 05
< |xpS5Y 20 AB 1o |1 [BseoesE 2| |[# [&miE 04 HT-AaH 05
oAz 7 Ry A 0| |7 &% 01| [~ |ELEIVE g 4 LM ABR—F 4
(ERAELYLLY T-BiE 10 ELE#R 1 Big 0.6
(&) B EH DA 80 :’; R—aV (RFAR) 5 7K 130 EOEH 05
el S 30 N A 35 FELa YA L PikE 0.6
5 | EB 30 E)EHAREEY— 50 CEH 0.2
1) AS 10 i 120
I |zus® Avk 8
L |EOy— 2
~ I\t 0.5
;"; fit-tail 0.5
H (LR ABR—F 4
- |BifE 0.6
cL&d 0.05
EOEm 0.4
FEoavvA g-BRikE 0.3
o—yzT 0.1
% 120
(%) FaaRILYE 14

_2_




138 (A) 148 (K 158 (7K) B 78 16 H (K) 178 (%)
] Bmd —AHY | @iz BRd —A&Y | (wus BRd —A&Y | @iz BRd — A&y | [mxs BRd —AHY
ERDE ERNE ERDE ERDE ERDE
3 :\y&/fp(nﬂ) 50 | [BEXER 68 ; =AYA i~ 30 % BEX(RHE) 60| [ |EEEX(ER) 62
/é aJyR/RY (LR 50 % BHEX(ER) 75| |5 |EyRsy N2 40 _%1" BEX(FFE) 70 ’S BEX(ER) 68
> _ _ ¢ YR/ 3. 4 50 i KpE Fit 6f | [KHE B 6
5 43 206| |, 43 206 |, =AYAM N5 60| | *XpE Tt 114 XHE B 7
=, _ R =Dl YAV Mhe~eh 70| || _ = [RBLBYBHA 250g 2.2
ﬂz i:%»—# Ak (2engs) 50 N Z!’g(x?’f?\) 215 ’I\ = — :7{ 43 206| (% =)
2 bich) = & Z A E 206
" BiE 015 |% |EHEE(30) 15 :'; A [BE(RSAR) 20| [~
" *#ﬁ 4 i % s0| |~ |BREISVTF 25| |~ [EZ 40| £ [BEERS1R) 30
D chsh o 1B Iis 0] |0 [#£BsF 12| (£ [Lesnd 20 {)\ DECAIZHL 35
= izt il 6 5 (B)SPVWAITFA |~ E& 25 IE MELY HybEAT 20| |7 [ELIED 35
ES 10| | [LLF 542 5 f AS 12| |4 He 15 AS 15
v A 5 | |[EOEI 3| |y |[E==> 6] [ |%t=taih 2| | |GREPVAIFA 7
I B LEVEHA 5 s (=B 25| |- |I2Alz< 0.5 (LM b=hk&E 15| |z, |At=taidl 1
R |mEECEBRE) 35| |& |BE 02| |7 [LRMRRRKE 6| | [3=£I 10 EOE; 4
I'\’ RO 2| |0 |ELEIVET fERE 2| |&  |rRETFrvT 8l 1L |AB 8| B [#YA 2
] (aicni I E sf % [928—y—2 2 | [ oEiE s |PY [k (s ) 1.5
— _ o | ERESHE 05 I I2A1=< 05| |5 |EE 15
o (,n)7n\y:'J— 25| |4, FrRY 35| |1 Bif 0.15] 15 4= 02f |z ThRA 05
= je;/\‘y 25| 4 i«fu 200 | % ;J\Ti#ﬁ 1|5 |zt 2| |5 [K 8
+ = 5 (4 5 5 | AN ey 05| (4 INEW 5
5 |KRE=ZY 5| [ |[EDIHET 05| | ! #it-4aih 5 2 =Y 30
4 [(®)=3x—X 8| |2 |ewmmrLossy momims 10 [ [FrAy 30| [/v [HL—% 11 ¥ |3l 20
' FANETED) 20| B [whprsz—7F 3 AS 10
:Il R—aV(R5AR) 7 f () BMASI— 125 () h—)La—y 5 :E FETF S 2 T 7—EVR (F#H) 35
. ($|) ") :AZI—‘/ 40 I 2 (83— LRO—FLySLy T 10 - HARA—)—R 1.7 £ (8BRS ERLYS Ly 5B 10
Z LR XEX—Zb 15 |p  [(eb) VR 10/ v N EADDY—R 1 s
I FH 35| o A ks wm s 5 [ |ROE 1 |k
5 |3ty 05| |# T Leping 30| o [Fryx 1] |5
Ayt ey:i| 05| |~ 7 | EE 25| | | FEAESHE 1] [z
(LM AHR—F 4 JFrE— 1l [~ [([BE 0.7
Bl 04 § 2 [xz 5 SLs> 004
ZL&S 0.03 Y I (F) LV XF 5 FELOUYA L TiRE 0.5
FEraLvA IR 0.5 o f A 0.5 = 75
5 110} (4@ 3 -1l 05
& | (b per—F 4 (87)BEIVIR 1
— ;{ FELALYA L BEE 0.3 (F oLz 0.5
N L EOE 05 FrRY 30
e ~ |&f 0.4 =Sy 15
gi rolELss 003 () h—JLa—> 5
o # 5 100 () BLTELYL LY 5L BiEE 10
(E) 7a—X>3—4 Lk 60 INEFL 4




208 (B) 218 (k) 228 (k) B 7R
] Bmd —AHY | @iz BRd —A&Y | (wus BRd — A%y
ERDE ERNE ERDE
3 [ay~xsy HNERNEPEEY P~ 30| |E |HEEK(ER 60
M DA 50 |7 [3uxisy b2 40| [ |BEXR(ER) 70
~ P EIT /N3, 450 '/f KHE B 6
=) 206] [\, [FysRy /N5 60 Kiiz FH 7
PR = A YAV Mo~ 70| (4
4+ [BARSAR) 25| |8 g, |&E 206
7, |R—a(RF/R) 5 |A  [£3 206
R RKEKE 35 |Y T | hEFEnEER /N 50
R Lenndg 45| |- [zz=Har— 25| |IE (A sEnsss 70
NET 40 () BLAITAT 15 |
g A 10 gz hOo= 10 ; 2E 30
| AN 05 EH 25| |= i 5
IR LY = ¥ 05| |y [FARY 25 AR 15
z  |EEAE— 05| |4 | KB 20( 1B | BHEVIIES 10
(LR FRRE2—L 6l [~ [Az 15 |2 |AB 7
[T FevS 3l |+ |m—yx 01| | | 5
 (p@am ||l [Crhsezr—T 4] [ [maz 6
; FAESE i gt FEo O YA 03 g BHE 5
¢ |2rE—v=2 07 i]: BAESHE 1|7 [ELEFL 4
2 |FEeavvs s 06| | |BIE 05 [+ [K 110
o |BE 04| [z |ZL&S 0.03
v |ZL&S 0.05 | | & 100| (%% |[(®)FHEIT1v 30
T B 40| |7 ®
l & ) ES3BLHL BT M. 2 50] [ () D SYMT 27&ETY— 2
(LR FECAHHiE 15 (B E3H2BIL BT Mma~ch 70| |7
FrRY 25| P ok o1l |*
= T Mz
U 15] | ¢ ”
AS 10| |5 [EWLIEY— 50 |eh
LHL 10| |%, 1)
(R) h—JLa—y 8| [% #H
fit-4aif 1] [S ~
& 1 |L R
FravyA 5Bl 0.2 n ’Lb)‘
=i 02 |5 .
cL&S 005 = i+
5

—




278 (A) 28H (1) 29H (k) B 7A 308 (K) 31H ()
] Bmb —AHY | @iz BRd —A&Y | (wus BRd —A&Y | @iz BRd — A&y | [mxs BRd —AHY
ERDE ERNE ERDE ERDE ERDE

N T #~m1 30| (K HEER(EHR) 60| |3 [Tyt 0| |E |[#EXRERE 60| 7 [au~/so B 50

M DA M2 40| |7 [HER(EF) 70| |7 [|3yxisy 3| |F  [BExEH 70| |7 [y GLE) 50

P ETIT, /3.4 50 ; KHE B 6| | 1; KHE B 6 X

< =DAYAM /N5 60 Xz Fit 7] |- 43, 206 *XuE Tt 7] |- 43 206

v —— L v =+ v

- YN\ N6~ 70| | | -

% ~  |&E 206| (4 |CR)AAMF 30| [ [£3 206| (4 |CBEhBALA=Y /N 50

A &R 206| |& g, |E—7v 9mAvk 5 |2 2, [Bshdavs— b 60

Y Z  |BEA _SUTF 30 FrRY 30| 1T [BE(RSAR) 40

= |mA meEsLGwb 0| (& |4&m 37 20 (A & 25| (A [E£x 1|8 [@wrztrFess 8
B Lb-EALGavh) 20] [~ [whuEbyxs 0| | [Forovqa 10 [~ [EoE 04| |

gi A3 (RSAR) 5| [~ [Ez= 40 g AS 10| [, [EB 1|12 [fearzsm) 5
G BEVAIFAS 20| |4 |AZ 20| |y |£= 05| |z |EE 30/ |, [WEBEVAFAT 18

F |EE 40| |z |E==v 6] [ [SEih 05 FrAyY 25 [, | EE 40

£ [FeNY 20 L—Xv 15| || (LR AHR—F 4| [k (LM BERXLF 15| || A 10

v |AB 20| 4% |IzAlz< 09| |7 |3%ravvs a-miks 05| |v |AZ 51 |4 |®HO=(C TV 7

D LHL 5| (1 |&£Z 05| |~ |BOE] 3 |7 |HhF 7 +oy— 2

b lizalz¢ 1| |T |fattasm 05| | (& 03| IA  [izalz< o5 |1£  [/%wY 05

N D) os| |7 [mzm 15 17 [cLss 0.03 ;{ CEm 1 ; T2t-4aith 05

= AN oY o5/ |, k¥ FrFrvS 135 | & 120/ ] EOE; 24] 11 (LM h=hk&E 15

A [HEAE— 0.5 VRE—=Y—=R 5.3 - |[BRECEEE) 08| | [LRHBR=F 4

& [(LR)ThKE 25| g [HL—#p 18 | [{LB)AHA 20 [ FAESH 1
R FrevT 3| (3l |HBAESH 15 | (LR EH FA4R 20| (5 [kuo 20| [ |BE 05

Wb |EECEEE) 08| |7 |z#ravys s-mims 09| [ (R A7 yTN FE 20| | |EE 25 ZL&S 0.03

T | HERESHE 1Y |&k& 07| |Y [BAYTFAEY— 20| [ |@Fibber vk 05| |F  |zeeavvx s-mse 03

B [mzre—y—2 07| [~ [SLs> 0.03| | T s x50 o8| || [o=uz 0.1

2 lxoavys seomms 0.6 ; ;_ (DP) 352 &X—Hy 11 |) fit=4a;H 0.5 z bl 110

F BiE 04 | [KE)/A 50 (LR R 4 |5

| [EL&S 005 |z i+ FEy AL L MiEE 03| |, |RZARF=X 20

z B 20| | |EERATYL 40| |5 O 0.5 |1

~ & Bif 06| [N |@In—~y—surcem 25

FOGBBE EpoE 25 2 cL&d 0.03| |Y

O Tk 0.1 7 CEm 03| |!

% | 2 120 |#

= [@®F—x st 15 ?j ’lf’

< > (E) S &S EY— 40| |

| (B R—%L—FUr L BUsE 15 th

< )

Ilz H

IS




